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A few VERY IMPORTANT things to remember: 

Vertical Angles Linear Pair Angles of a  Isosceles s Equilateral s 

 

 

 

 

 

 

 

 

   

 

1. 

 m1  =  _____________ 

 m2  =  _____________ 

 m3  =  _____________ 

 m4  =  _____________ 

 m5  =  _____________ 

 Classify ABC in two ways: ____________________________ 

 Classify CDE in two ways: ____________________________ 

 

2.  m1  =  _____________ 

 m2  =  _____________ 

 m3  =  _____________ 

 m4  =  _____________ 

 m5  =  _____________ 

 m6  =  _____________ 

 Classify ACD in two ways: ____________________________ 

 Classify BCD in two ways: ____________________________ 

 Classify ABC in two ways: ____________________________ 
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Hint: Start with ABC, 
then use vertical angles 

and linear pairs 
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Hint: Start with the 
equilateral triangle! 
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3.  m1  =  _____________ 

 m2  =  _____________ 

 m3  =  _____________ 

 m4  =  _____________ 

 m5  =  _____________ 

 m6  =  _____________ 

 m7  =  _____________ 

 m8  =  _____________ 

 m9  =  _____________ 

 Classify ABC in two ways: ____________________________ 

 Classify CDE in two ways: ____________________________ 

 Classify EFG in two ways: ____________________________ 

 

4.  m1  =  _____________ 

 m2  =  _____________ 

 m3  =  _____________ 

 m4  =  _____________ 

 m5  =  _____________ 

 m6  =  _____________ 

 m7  =  _____________ 

 Classify ABC in two ways: ____________________________ 

 Classify ABD in two ways: ____________________________ 

 Classify ABE in two ways: ____________________________ 

 Classify BCE in two ways: ____________________________ 

 Classify ADE in two ways: ____________________________ 
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Hint: Start with CDE. 
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Hint: Look at the big, 
overlapping triangles first: 
ABD and BAC.  They will 

help you find 5 & 6. 
Then look at the smaller 

triangles. 
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5. 

m1 = ______ 

m2 = ______ 

m3 = ______ 

m4 = ______ 

m5 = ______ 

m6 = ______ 

m7 = ______ 

m8 = ______ 

m9 = ______ 

m1 = ______ 

m2 = ______ 

m3 = ______ 

m4 = ______ 

m5 = ______ 

m6 = ______ 

m7 = ______ 

m8 = ______ 

m9 = ______ 


